570NXT Loader Landscaper
Tier IV

Parts Catalog

Print No. 84599858
Issued 11/2012



01/12

p1

10.001.01

ENGINE ASSY (5801398328)




10.001.01

p1

01/12

ENGINE ASSY (5801398328)

REF FN PART NUMBER YR/SN QTY DESCRIPTION
1 84281129 1 ENGINE, F5HFL413B*A001

2 8097868 1 ENGINE OVERHAUL KIT

3 8097869 1 ENGINE TOP GASKETS KIT

STONXT




01/12

p1

10.001.02

CYLINDER BLOCK & RELATED PARTS (504384812)




10.001.02 p1

01/12

CYLINDER BLOCK & RELATED PARTS (504384812)

REF FN PART NUMBER QTY DESCRIPTION
1 504371226 1 CYLINDER BLOCK, ASSY Contains Ref.1A-9
1A NSS 1 NOT SERVICED SEPARATELY
2 4891353 10 SCREW, Fig Hd, M12 x 1.5x 120
3 7300019 14 DOWEL

4 4895040 1 BUSHING

5 504051238 3 PLUG

6 504138060 4 PLUG,D=1/8"

7 14329901 5 PLUG, M40, Tapered

8 16990970 1 PLUG,D=30mm

9 504016052 1 PLUG,M14x15

10 NSS 4  NOT SERVICED SEPARATELY
10 NSS 1 NOT SERVICED SEPARATELY
11 504356829 1 PIPEFITTING

12 504077652 1 SEAL

13 5801363466 4 BUSHING

14 17917015 1 PLUG

STONXT




07/12

p1

10.001.AK

ENGINE MOUNTING




10.001.AK p1 | 07/12
ENGINE MOUNTING
REF FN PART NUMBER QTY DESCRIPTION
1 84563990 1 BRACKET, RH Engine Mount
2 84563992 1 BRACKET, LH Engine Mount
3 84385963 4 MOUNT, Engine
4 86592702 2 WASHER, M16 x 45 x 6, HT
5 832-10416 2 LOCKNUT,M16x2,CI8
6 47395221 4  WASHER, WASHER
7 321246 2 BOLT, Hex, M16 x 120, 8.8
8 896-11012 6 WASHER, M13.5x24.5x 3, HT
9 614-12035 6 BOLT, Hex, M12 x 35, 8.8, Full Thd

STONXT




01/12

p1

10.012.04

HOOKS - ENGINE (5801492325)

-

Y

RIS




10.012.04

p1

01/12

HOOKS - ENGINE (5801492325)

REF FN PART NUMBER YR/SN QTY DESCRIPTION
1 504082370 1 HOOK

2 16587024 2 SCREW,M10x 20

3 504239237 2 HOOK

4 16587924 2 SCREW

STONXT




01/12

p1

01

10.101.01

CYLINDER HEAD & RELATED PARTS (504388233)

10.254.05

17

~—
~—

TR

a o
]




Thank you so much for reading.
Please click the “Buy Now!”
button below to download the

complete manual.

After you pay.
You can download the most
perfect and complete manual In

the world immediately.

Our support email:

ebooklibonline@outlook.com


https://www.ebooklibonline.com/downloads/case-570nxt-tier-iv-loader-landscaper-parts-catalogue-manual-instant-download/



